
=LPDB����

3UDFRZQLN�5R]NãDG���GU�KDE��%RU\VãDZVNL�5DIDã��7\J������
3

Q

�������������7\J�����

:VSyáF]HVQD�OLWHUDWXUD
DQJORMĊ]\F]QD��Z��GU
KDE��%RU\VáDZVNL�5DIDá�=
DMĊFLD�RQ�OLQH� ���)$�0�
���:

�������������7\J�����

+LVWRULD�OLWHUDWXU\
DQJORMĊ]\F]QHM��Z�� GU
KDE��%RU\VáDZVNL�5DIDá�=
DMĊFLD�RQ�OLQH� ���)$�/�
���:

W\G]���������PLQ

�������������7\J�����

+LVWRULD�OLWHUDWXU\
DQJORMĊ]\F]QHM��FZ�� GU
KDE��%RU\VáDZVNL�5DIDá�=
DMĊFLD�RQ�OLQH� ���)$�/�
���&�

�������������7\J���������
���������������������

6.����6HPLQDULXP
NLHUXQNRZH� GU�KDE�
%RU\VáDZVNL�5DIDá� =DMĊFL
D�RQ�OLQH� 6'�/����DQJ�

�������������7\J�����

+LVWRULD�OLWHUDWXU\
DQJORMĊ]\F]QHM��FZ�� GU
KDE��%RU\VáDZVNL�5DIDá�=
DMĊFLD�RQ�OLQH� ���)$�/�
���&�Z

WR
UH

N
ģ

U

�������������7\J��������

:VSyáF]HVQD�OLWHUDWXUD
DQJORMĊ]\F]QD��Z��GU
KDE��%RU\VáDZVNL�5DIDá�=
%������ ���)$�0����:

&
]

3
W

6
R

1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


